Spex

Standing Powerchair Adapter
Mount
Installation Guide

1. Attach the hardware centrally on
the back support shell using the
Fixing Studs, M6 Flat Washers, and
M6 Nyloc Nuts.

Use a 10mm wrench to firmly
tighten the nuts.

2. Attach mount to power
wheelchair using Conical Washers
and M8 Dome Nuts.

Use a 13mm wrench to firmly
tighten the nuts.

3. Adjust back support height by
loosening M6 Nyloc nuts. When
locking back support height, ensure
fasteners are tight.

Further height adjust can be

achieved by repositioning the mount

on the back support (step 1).

CAUTION: This is not crash
A certified and therefore it is not to

be used for transportation uses.

This is a supplementary installation guide,
for full information and warnings refer to
Back Support User Manual provided with
your Standing Powerchair Adapter Mount.

™
.\\TE\:/\ -
“\ome 3 b
NI X‘Qﬁ
Q‘ﬁ,,u/su =)
2 QQQ’A L= L]
- %/’:/u: S
= j{\ u &/n’m a S=
’“\/’mana U
‘,H/% a“umu =S ®
\u“u:u Sl ®
\u%u % ®
s ® %.H
=T
]
. %
ﬂ\
:}};.:1_'\\
u%‘,naa 8
P BT M ==
u [ I
f | ®
v [ =Y [
'.:? l|:
'Wﬂwi" <
e, o 9 &
Ka% E:;nﬂ
: <=
=l
T

U U U4
n N n r

ﬂ ‘OOOOO JJ

] o=
{:}o o:Jy'




Espaiol

Instrucciones de montaje:

1. Fije la tornilleria en el centro de la estructura del soporte del respaldo
usando los pernos de fijacion, las arandelas planas M6 y las tuercas
Nyloc M6. Use una llave de 10 mm para apretar firmemente las tuercas.
2. Fije el soporte a la silla de ruedas eléctrica con arandelas cénicas

y tuercas abovedadas M8. Use una llave de 13 mm para apretar
firmemente las tuercas.

3. Ajuste la altura del respaldo aflojando las tuercas Nyloc M6. Al
bloquear la altura del respaldo, asegurese de que los sujetadores estén
apretados. Se puede lograr un mayor ajuste de la altura reposicionando
el soporte en el respaldo (paso 1).

Esta es una guia de instalacion complementaria, para obtener
informacién completa y advertencias, consulte el Manual del usuario
del soporte para la espalda que se proporciona con el soporte del
adaptador para silla eléctrica de pie.

Italiana

Istruzioni di montaggio:

1. Fissare la bulloneria centralmente sulla scocca del supporto posteriore
utilizzando i prigionieri di fissaggio, le rondelle piatte M6 e i dadi Nyloc
M&. Utilizzare una chiave da 10 mm per serrare saldamente i dadi.

2. Fissare il supporto alla carrozzina elettrica utilizzando rondelle
coniche e dadi a cupola M8. Utilizzare una chiave da 13 mm per serrare
saldamente i dadi.

3. Regolare laltezza dello schienale allentando i dadi Nyloc M6. Quando
si blocca laltezza dello schienale, assicurarsi che i dispositivi di fissaggio
siano ben stretti. E possibile ottenere un'ulteriore regolazione dellaltezza
riposizionando il supporto sullo schienale (passo 1).

Questa e una guida allinstallazione supplementare, per informazioni

e avvertenze complete, fare riferimento al Manuale dellutente del
supporto per la schiena fornito con il supporto adattatore per
carrozzina in piedi.

Polski

Instrukcje sktadania:

1. Przymocuj osprzet centralnie do ostony tylnego wspornika za pomoca
kotkéw mocujacych, ptaskich podktadek M6 i nakretek M6 Nyloc. Uzyj
klucza 10 mm, aby mocno dokreci¢ nakretki.

2. Przymocuj uchwyt do elektrycznego wozka inwalidzkiego za pomoca
podktadek stozkowych i nakretek koputkowych M8, Uzyj klucza 13 mm,
aby mocno dokreci¢ nakretki.

3. Wyreguluj wysokos¢ oparcia plecow, poluzowujac nakretki M6 Nyloc.
Podczas blokowania wysokosci oparcia plecéw upewnij sig, ze taczniki
sg mocno dokrecone. Dalsza regulacje wysoko$ci mozna uzyskaé,
przestawiajac uchwyt na oparcie plecow (krok 1).

Jest to dodatkowa instrukcja instalacji. Petne informacje i ostrzezenia
znajduja sie w Instrukeji obstugi podparcia plecéw dostarczonej wraz ze
stojacym uchwytem adaptera Powerchair.

Spex Ltd

solutions@spexseating.com

32 Detroit Drive, Rolleston 7675, New Zealand
Call +643 3079790 Fax +643 307 2820
www.spexseating.com

Manual: StandingChairMount20220803

Francais

Instructions de montage:

1. Fixez le matériel au centre de la coque du support arriére a laide des
goujons de fixation, des rondelles plates M6 et des écrous nyloc M6.
Utilisez une clé de 10 mm pour serrer fermement les écrous.

2. Fixez le support au fauteuil roulant électrique a laide de rondelles
coniques et d'écrous & déme M8. Utilisez une clé de 13 mm pour serrer
fermement les écrous.

3. Réglez la hauteur du dossier en desserrant les écrous Nyloc M6. Lors
du verrouillage de la hauteur du dossier, assurez-vous que les fixations
sont bien serrées. Un réglage supplémentaire de la hauteur peut étre
obtenu en repositionnant le support sur le support arriére (étape 1).

Il sagit dun guide dinstallation supplémentaire. Pour obtenir des
informations compleétes et des avertissements, reportez-vous au manuel
d'utilisation du support dorsal fourni avec votre support dadaptateur
pour fauteuil roulant debout.

Portugués

Instrucdes de montagem:

1. Fixe as ferragens centralmente na carcaca do suporte traseiro usando
os pinos de fixacao, as arruelas planas M6 e as porcas de nylon M6. Use
uma chave de 10 mm para apertar firmemente as porcas.

2. Prenda o suporte a cadeira de rodas elétrica usando arruelas

conicas e porcas de cUpula M8. Use uma chave de 13 mm para apertar
firmemente as porcas.

3. Ajuste a altura do suporte traseiro afrouxando as porcas de Nyloc M6.
Ao travar a altura do suporte traseiro, certifique-se de que os fixadores
estejam apertados. Ajustes de altura adicionais podem ser obtidos
reposicionando o suporte no suporte traseiro (passo 1).

Este é um guia de instalacdo suplementar, para obter informacdes
completas e avisos, consulte o Manual do usuério do suporte para as
costas fornecido com o suporte do adaptador de cadeira elétrica de pé.

Deutsch

Montageanleitungen:

1. Bevestig de hardware centraal op de rugleuningschaal met behulp van
de bevestigingsbouten, M6 platte ringen en M6 Nyloc-moeren. Gebruik
een 10 mm sleutel om de moeren stevig vast te draaien.

2. Bevestig de steun aan de elektrische rolstoel met behulp van
conische ringen en M8-koepelmoeren. Gebruik een sleutel van 13 mm
om de moeren stevig vast te draaien.

3. Pas de hoogte van de rugleuning aan door de M6 Nyloc-moeren los
te draaien. Zorg er bij het vergrendelen van de hoogte van de rugleuning
voor dat de bevestigingen goed vastzitten. Verdere hoogteverstelling kan
worden bereikt door de houder op de rugleuning te verplaatsen (stap 1).
Dit is een aanvullende installatiegids. Raadpleeg voor volledige
informatie en waarschuwingen de gebruikershandleiding voor de
rugleuning die bij uw staande elektrische rolstoeladapterbevestiging

is geleverd.



